&7/~ DIRTFREAIC APPLICATION by MODEL

HONDA CRF250L/M/RALLY
-2019

Bike |  Year | Description | Part number
ZETA

CRF250L/M 12-19  Aluminum Throttle Tube STD ZE45-5024
CRF250RALLY 17-19  Aluminum Throttle Tube STD ZE45-5024
CRF250L/M 12-19 Aluminum Bolt Set for Plastics 14pcs Red ZE88-5142
CRF250RALLY 18-19  Aluminum Bolt Set for Plastics 22pcs Red ZE88-5152
CRF250L/M 12-19  Aluminum FootPegs Black ZE93-1020
CRF250RALLY 17-19  Aluminum FootPegs Black ZE93-1020
CRF250L/M 12-19  Aluminum FootPegs Red ZE93-1022
CRF250RALLY 17-19  Aluminum FootPegs Red ZE93-1022
CRF250L 13-19  Axle Nut M16x27-P1.5 H13L Red ZE93-8022
CRF250RALLY 17-19  Axle Nut M16x27-P1.5 H13L Red ZE93-8022
CRF250L/M ALL Chain Guard Brace ZE82-0211
CRF250RALLY ALL Chain Guard Brace ZE82-0211
CRF250L/M 12-19  Chain Guide Red ZE82-1082
CRF250RALLY 18-19  Chain Guide Red ZE82-1082
CRF250L/M 12-19  Clutch Cable Guide ZE94-0181
CRF250L/M ALL Comp Bar DualSports Medium Blue ZE07-6452
CRF250L/M ALL Comp Bar DualSports Medium Red ZEQ7-6453
CRF250L/M ALL Comp Bar DualSports Medium Ti-Color ZEQ7-6458
CRF250L 12-19  COMP Stabilizer W100 ZE33-2100
CRF250RALLY 17-19  COMP Stabilizer W100 ZE33-2100
CRF250L/M ALL CX Bar DualSports Medium Black ZE09-6451
CRF250L/M ALL CX Bar DualSports Medium Blue ZE09-6452
CRF250L/M ALL CX Bar DualSports Medium Red ZEQ09-6453
CRF250L/M 12-19  Drive Cover Red ZE80-9315
CRF250RALLY 17-19  Drive Cover Red ZE80-9315
CRF250L 12-19  ED Skid Plate ZE55-2130
CRF250L/M 12-19  Engine Plugs Black ZE89-1151
CRF250RALLY 17-19  Engine Plugs Black ZE89-1151
CRF250L/M 12-19  Engine Plugs Red ZE89-1150
CRF250RALLY 17-19  Engine Plugs Red ZE89-1150
CRF250L/M 12-19 Front Brake Line Clamp Blue ZE92-0207
CRF250RALLY 17-19 Front Brake Line Clamp Blue ZE92-0207
CRF250L/M 12-19  Front Brake Line Clamp Red ZE92-0206
CRF250RALLY 17-19 Front Brake Line Clamp Red ZE92-0206
CRF250L/M 12-19  Brake Reservoir Cover <Front> Red ZE86-1103
CRF250L/M 12-19  Brake Reservoir Cover <Front> Blue ZE86-1501
CRF250RALLY 18-19  Brake Reservoir Cover <Front> Blue ZE86-1501
CRF250L/M 12-19  Brake Reservoir Cover <Front> Red ZE86-1503
CRF250RALLY 18-19  Brake Reservoir Cover <Front> Red ZE86-1503
CRF250L 12-16  Front Disk Guard Mounting Kit ZE52-1180
CRF250L 17-19  Front Disk Guard Mounting Kit ZE52-1190
CRF250L 12-19  Forged Aluminum KickStand ZE56-8009
CRF250RALLY 17-19  Forged Aluminum KickStand CRF250Rally'17- Low ZE56-8029
CRF250L 12-19  Forged Aluminum KickStand Option&Rep.Tip 105mm ZE56-8939
CRF250RALLY 17-19  Forged Aluminum KickStand Option&Rep.Tip 105mm ZE56-8939
CRF250L 12-19  Forged Aluminum KickStand Option&Rep.Tip 30mm ZE56-8909
CRF250RALLY 17-19  Forged Aluminum KickStand Option&Rep.Tip 30mm ZE56-8909
CRF250L 12-19  Forged Aluminum KickStand Option&Rep.Tip 55mm ZE56-8919
CRF250RALLY 17-19  Forged Aluminum KickStand Option&Rep.Tip 55mm ZE56-8919
CRF250L 12-19  Forged Aluminum KickStand Option&Rep.Tip 80mm ZE56-8929
CRF250RALLY 17-19  Forged Aluminum KickStand Option&Rep.Tip 80mm ZE56-8929
CRF250L/M 12-19  Forged Shift Lever Red ZE90-4042
CRF250RALLY 17-19  Forged Shift Lever Red ZE90-4042
CRF250L/M 12-19  Fork Guard Bolt Set 6pcs. Red ZE88-9112
CRF250RALLY 17-19  Fork Guard Bolt Set 6pcs. Red ZE88-9112
CRF250L 12-19  FrameGuard ZE52-0019
CRF250RALLY 17-19  FrameGuard ZE52-0019
CRF250L/M 12-19  Front Fork Cap Red ZE56-10132
CRF250RALLY 17-19  Front Fork Cap Red ZE56-10132
CRF250L/M 12-18  Heel Guard ZE81-2008
CRF250RALLY 17-18  Heel Guard ZE81-2008
CRF250L/M 12-18  Heel Guard Black ZE81-2051
CRF250RALLY 17-18  Heel Guard Black ZE81-2051
CRF250L/M 12-19  Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
CRF250RALLY 17-19  Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
CRF250L/M 12-19  Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
CRF250RALLY 17-19  Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
CRF250L/M 12-19  Oil Filler Plug Black ZE89-2111
CRF250RALLY 17-19  Oil Filler Plug Black ZE89-2111
CRF250L/M 12-19  Oil Filler Plug Blue ZE89-2112
CRF250RALLY 17-19  Oil Filler Plug Blue ZE89-2112
CRF250L/M 12-19  Oil Filler Plug Red ZE89-2110
CRF250RALLY 17-19  Oil Filler Plug Red ZE89-2110
CRF250L/M 12-19  Oil Filter Cover Red ZE90-1023
CRF250RALLY 17-19  Oil Filter Cover Red ZE90-1023
CRF250L/M 12-19  Pivot B-Lever CP 3-Fin ZE41-3145
CRF250RALLY 17-19  Pivot B-Lever CP 3-Fin ZE41-3145
CRF250L/M 12-19  Pivot B-Lever CP 4-Fin ZE41-4145

CRF250RALLY 17-19  Pivot B-Lever CP 4-Fin ZE41-4145



@77 DIRTFREAIC APPLICATION by MODEL :Rm‘\fgfgml/ M/

Bike |  Year | Description \ Part number
ZETA
CRF250L/M 12-19  Pivot C-Lever CP 3-Fin ZE42-3104
CRF250RALLY 18-19  Pivot C-Lever CP 3-Fin ZE42-3104
CRF250L/M 12-19  Pivot C-Lever CP 4-Fin ZE42-4104
CRF250RALLY 18-19  Pivot C-Lever CP 4-Fin ZE42-4104
CRF250L/M 12-19  Pivot Lever Set CP 3Fi Black ZE44-5011
CRF250RALLY 18-19  Pivot Lever Set CP 3Fi Black ZE44-5011
CRF250L/M 12-19  Pivot Lever Set CP 3Fi Red ZE44-5013
CRF250RALLY 18-19  Pivot Lever Set CP 3Fi Red ZE44-5013
CRF250L 12-19  Radiator Guard ZE52-2032
CRF250L/M 12-19  Rear Brake Clevis Red ZE89-5045
CRF250RALLY 17-19  Rear Brake Clevis Red ZE89-5045
CRF250L/M 12-19  Rear Axle Block Red ZE93-5063
CRF250RALLY 17-19  Rear Axle Block Red ZE93-5063
CRF250L/M 12-19  Rear Axle Slider Black ZE93-6150
CRF250RALLY 17-19  Rear Axle Slider Black ZE93-6150
CRF250L/M 12-19  Rear Axle Slider Red ZE93-6152
CRF250RALLY 17-19  Rear Axle Slider Red ZE93-6152
CRF250L/M 12-19  Revolver Shift Lever Red ZE90-3042
CRF250RALLY 17-19  Revolver Shift Lever Red ZE90-3042
CRF250L/M 12-19  Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
CRF250RALLY 17-19  Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
CRF250L/M 12-19  Revolver Shift Lever Rep. Tip Mount Straight Red ZE90-3902
CRF250RALLY 17-19  Revolver Shift Lever Rep. Tip Mount Straight Red ZE90-3902
CRF250L 12-19  Adjustable Lowering Link Kit Red ZE56-01132
CRF250L 12-19  Lowering Link Kit -20mm Red ZE56-05132
CRF250RALLY 17-19  Lowering Link Kit -20mm Red ZE56-05182
CRF250L/M 17-19  Side Stand Extender Blk/Slv ZE56-6050
CRF250RALLY 17-19  Side Stand Extender Blk/Slv ZE56-6050
CRF250L/M 12-19  Stem Nut M24x30-P1.0 H12 Black ZE58-2121
CRF250RALLY 17-19  Stem Nut M24x30-P1.0 H12 Black ZE58-2121
CRF250L/M 12-19  Stem Nut M24x30-P1.0 H12 Red ZE58-2123
CRF250RALLY 17-19  Stem Nut M24x30-P1.0 H12 Red ZE58-2123
CRF250L/M 12-19  Throttle Tube Closed End ZE45-8024
CRF250RALLY 17-19  Throttle Tube Closed End ZE45-8024
CRF250L/M 12-19  Throttle Tube Open End ZE45-8124
CRF250RALLY 17-19  Throttle Tube Open End ZE45-8124
CRF250L/M/RALLY 12-19  Top Clamp COMP Red ZE12-1256
CRF250L/M/RALLY 12-19  Top Clamp SX Red ZE11-1256
CRF250L/M 12-19  Trigger Brake Pedal Red ZE90-7022
CRF250RALLY 17-19  Trigger Brake Pedal Red w/SUS-Shaft ZE90-7022
CRF250L/M/RALLY 12-19  Triple Clamp Kit SX Red ZE14-1256
CRF250L/M 12-16  Wheel Spacer <Front> Red ZE93-3081
CRF250L/M 12-16  Wheel Spacer <Rear> Red ZE93-3161
CRF250L/M 17-19  Wheel Spacer <Rear> Red ZE93-3161
CRF250RALLY 17-19  Wheel Spacer <Rear> Red ZE93-3161
Z-CARBON

CRF250L/M 12-19  Front Fork Wraps 52x160mm ZC35-4332
CRF250RALLY 17-19  Front Fork Wraps 52x160mm ZC35-4332
CRF250L/M 12-19  Front Fork Wraps 52x225mm ZC35-4336
CRF250RALLY 17-19  Front Fork Wraps 52x248mm ZC35-4338
CRF250L/M/RALLY 12-19  Brake Disk FlangeBolt Set 6-M6 17mm 6pcs ZT31-0556
CRF250L/M/RALLY 12-19  Brake Disk ThinHeadBolt Set 10-M8 22mm 4pcs ZT31-3764
CRF250L/M/RALLY 12-19  Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
CRF250L/M 12-16  Axle Shaft <Front> ZT60-1173
CRF250L/M,RALLY 17-19  Axle Shaft Rally <Front> ZT60-1174
CRF250L/M 12-16  Axle Shaft <Rear> ZT760-1273
CRF250L/M,RALLY 17-19  Axle Shaft <Rear> ZT60-1273
CRF250L/M/RALLY 12-19  Flange Bolt Set M8 30mm 2pcs ZT83-2302
CRF250L/M/RALLY 12-19  Flange Bolt Set M8 35mm 4pcs ZT83-2354
CRF250L/M/RALLY 12-19  Flange Bolt Set M8 40mm 2pcs ZT83-2402
CRF250L/M/RALLY 12-19  Flange Bolt Set M8 45mm 4pcs Z7T83-2454
CRF250L 12-19  R50 Rim 18-2.15 32H-1 W01-64311
CRF250RALLY 17-19  R50 Rim 18-2.15 32H-1 W01-64311
CRF250L 12-19  R50 Rim 18-2.15 32H-1 W01-64318
CRF250RALLY 17-19  R50 Rim 18-2.15 32H-1 W01-64318
CRF250L 12-19  R50 Rim 21-1.60 36H-1 Black W01-92411
CRF250RALLY 17-19  R50 Rim 21-1.60 36H-1 Black W01-92411
CRF250L 12-19  R50 Rim 21-1.60 36H-1 Red W01-92413
CRF250RALLY 17-19  R50 Rim 21-1.60 36H-1 Red W01-92413
CRF250L 12-19  R50 Rim 21-1.60 36H-1 Green W01-92414
CRF250RALLY 17-19  R50 Rim 21-1.60 36H-1 Green W01-92414
CRF250L 12-19  R50 Rim 21-1.60 36H-1 Silver W01-92418
CRF250RALLY 17-19  R50 Rim 21-1.60 36H-1 Silver W01-92418
CRF250L 12-19  Steel Spoke Set <Front> W10-11340
CRF250RALLY 17-19  Steel Spoke Set <Front> W10-11340
CRF250L 12-19  Steel Spoke Set <Rear> W10-11740
CRF250RALLY 17-19  Steel Spoke Set <Rear> W10-11740
CRF250L 12-19  SUS304 Spoke Set <Front> W10-21340
CRF250RALLY 17-19  SUS304 Spoke Set <Front> W10-21340
CRF250L 12-19  SUS304 Spoke Set <Rear> W10-21740
CRF250RALLY 17-19  SUS304 Spoke Set <Rear> W10-21740
CRF250L/M/RALLY 12-18  SUS304 Spoke/Nipple F/R Set W16-31011
CRF250L/M/RALLY 12-16  Front Wheel 1.60-21 W21-41511
CRF250L/M/RALLY 17-19  Front Wheel 1.60-21 W21-41521
CRF250L/M/RALLYABS 17-19  Front Wheel 1.60-21 W21-41521

CRF250L/M/RALLY 12-16  Rear Wheel 2.15-18 W21-51551



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike |  Year | Description \ Part number
Z-WHEEL

CRF250L/M/RALLY 17-19  Rear Wheel 2.15-18 W21-51551
CRF250L/M/RALLYABS 17-19  Rear Wheel 2.15-18 W21-51651
CRF250L/M/RALLY 12-16  AR1 Motard Wheel Set <Front> W27-11511
CRF250L/M/RALLY 17-19  AR1 Motard Wheel Set <Front> W27-11521
CRF250L/M/RALLYABS 17-19  AR1 Motard Wheel Set <Front> W27-11521
CRF250L/M/RALLY 12-16  AR1 Motard Wheel Set <Rear> W27-21511
CRF250L/M/RALLY 17-19  AR1 Motard Wheel Set <Rear> W27-21511
CRF250L/M/RALLYABS 17-19  AR1 Motard Wheel Kit <Rear> W27-21651
CRF250L 12-19  Zigram Rotor <Front> W51-10035
CRF250L 12-19  Zigram Rotor <Rear> W51-20033
CRF250RALLY 17-19  Zigram Rotor <Rear> W51-20033
CRF250L 12-19  Brake Hose <Front> Clear BLK W61-14011
CRF250RALLY 17-19 Brake Hose <Front> Clear BLK W61-14011
CRF250L 12-19  Brake Hose <Front> RED W61-14013
CRF250RALLY 17-19  Brake Hose <Front> RED W61-14013
CRF250L 12-19  Brake Hose <Rear> Clear BLK W61-25051
CRF250RALLY 17-19  Brake Hose <Rear> Clear BLK W61-25051
CRF250L 12-19  Brake Hose <Rear> BLU W61-25052
CRF250RALLY 17-19  Brake Hose <Rear> BLU W61-25052
CRF250L 12-19  Brake Hose <Rear> RED W61-25053
CRF250RALLY 17-19  Brake Hose <Rear> RED W61-25053
CRF250L 12-19  Stainless Spoke Set <Front> DC420-1117
CRF250RALLY 17-19  Stainless Spoke Set<Front> DC420-1117
CRF250L 12-19  Stainless Spoke Set <Rear> DC420-5120
CRF250RALLY 17-19  Stainless Sﬁoke Set <Rear> DC420-5120
CRF250L/M 12-16  Barrel4 JMCA Silencer DL30-7111
CRF250L/M 17-19  Barrel4 JMCA Silencer DL30-7112
CRF250RALLY 17-19  Barrel4 JMCA Silencer DL30-7112
CRF250L/M 12-16  Barrel4 Silencer DL30-6111
CRF250L/M 17-19  Barrel4 Silencer DL30-6112
CRF250RALLY 17-19  Barrel4 Silencer DL30-6112
CRF250L/M 12-16  Torqg Head Pipe DL30-2110
CRF250L/M 17-19  Torq Head Pipe DL30-2111
CRF250RALLY 17-19 Tori Head Piﬁe DL30-2111
CRF250L/M 12-19  Brake Lever Short D40-13-410
CRF250RALLY 17-19  Brake Lever Short D40-13-410
CRF250L/M 12-19  Brake Lever STD D40-11-410
CRF250RALLY 17-19  Brake Lever STD D40-11-410
CRF250L/M 12-19  Clutch Lever Short D40-03-125
CRF250RALLY 17-19  Clutch Lever Short D40-03-125
CRF250L/M 12-16  EX Joint Gasket D31-41-060
CRF250L/M 17-19  EX Joint Gasket D31-41-650
CRF250RALLY 17-19  EX Joint Gasket D31-41-650
CRF250L/M/RALLY 17-19  Flasher Holder Plates Black 2set D45-59-923
CRF250L/M 12-19  FootPegs Spring/Pin Set D48-01-101
CRF250RALLY 17-19  FootPegs Spring/Pin Set D48-01-101
CRF250L/M 12-19  Motard Foot Pegs CrMo D48-02-932
CRF250RALLY 17-19  Motard Foot Pegs CrMo D48-02-932
CRF250L/M 12-19  Radiator Hose Kit Red D47-01-143
CRF250RALLY 17-19  Radiator Hose Kit Red D47-01-143
CRF250L/M 12-19  Wide Foot Pegs CrMo High D48-02-632
CRF250RALLY 17-19  Wide Foot Pegs CrMo High D48-02-632
CRF250L/M 12-19  Wide Foot Pegs CrMo Mid D48-02-532
CRF250RALLY 17-19  Wide Foot Pegs CrMo Mid D48-02-532
CRF250L/M 12-19  Wide Foot Pegs CrMo U-Wide D48-02-832
CRF250RALLY 17-19  Wide Foot Pegs CrMo U-Wide D48-02-832
CRF250L/M 12-19  Dura Sprocket <Front> 520-13T D331-521-13
CRF250RALLY 17-19  Dura Sprocket <Front> 520-13T D331-521-13
CRF250L/M 12-19  Dura Sprocket <Front> 520-14T D331-521-14
CRF250RALLY 17-19  Dura Sprocket <Front> 520-14T D331-521-14
CRF250L/M 12-19  Dura Sprocket <Rear> 520-39T D34-03-039
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-39T D34-03-039
CRF250L/M 12-19  Dura Sprocket <Rear> 520-40T D34-03-040
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-40T D34-03-040
CRF250L/M 12-19  Dura Sprocket <Rear> 520-42T D34-03-042
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-42T D34-03-042
CRF250L/M 12-19  Dura Sprocket <Rear> 520-44T D34-03-044
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-44T D34-03-044
CRF250L/M 12-19  Dura Sprocket <Rear> 520-45T D34-03-045
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-45T D34-03-045
CRF250L/M 12-19  Dura Sprocket <Rear> 520-46T D34-03-046
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-46T D34-03-046
CRF250L/M 12-19  Dura Sprocket <Rear> 520-48T D34-03-048
CRF250RALLY 17-19  Dura Sprocket <Rear> 520-48T D34-03-048

HONDA CRF230L/M/
RALLY -2019



	crf250_lmrally_1
	crf250_lmrally_2
	crf250_lmrally_3

